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Real-life multiplication problems

There are 157 apples in a box.
How many will there be in three boxes?

A stamp album can hold 550 stamps.
How many stamps will 5 albums hold?

A train can take 425 passengers.
How many can it take in four trips?

Mr Jenkins puts $256 a month into the bank.
How much will he have put in after six months?

A theater can seat 5,524 people. If a play runs for 7 days, what
is the maximum number of people who will be able to see it?

A car costs $19,956. How much will it cost a
@ S X\ company o buy nine cars for its salespeople?
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Installing new window for a house costs $435. How
much will it cost to install 8 windows of the same size?

An dirplane flies at a steady speed of 550 mph.
How far will it travel in 7 hours?
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Everyday problems

An electrician buys 415 ft of cable. If he uses 51
234 ft, how much does he have left? Aot
’ -234f | f

He has 181 ft of cable left. _1e1fv | §

Simon travels by train for 110 mi, by bus 1 ,
for 56 mi and then walks the final 5 mi. 110 mi

How far does he travel? 56 mi
+ 5 mi
Simon travels 171 mi. 171 mi

Mr. Hindley works 185 hours a month.
His wife works 73 hours a month. How many
hours do they work altogether in a month?

A school collects money for the local shelter. If the pupils
collect $275 in the first month, $210 in the second month, and
$136 in the third month, how much do they collect altogether?

Danny’s car finishes the race in 12.75 seconds,
Rachelle’s car finishes in 14.83 seconds.
Whose car won the race?

How much faster was the winning car?

A builder buys 8,755 b of sand, but uses only
6,916 Ib. How much does he have left?
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There are 157 apples in a box. 12
How many will there be in three boxes? 15 ZJ
X
471 apples 471

A stamp album can hold 550 stamps.
How many stamps will 5 albums hold?

A train can take 425 passengers.
How many can it take in four trips?

Mr Jenkins puts $256 a month into the bank.
How much will he have put in after six months?

A theater can seat 5,524 people. If a play runs for 7 days, what
is the maximum number of people who will be able to see it?

A car costs $19,956. How much will it cost a
@ Se) 3\ company to buy nine cars for its salespeople?
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Installing new window for a house costs $435. How
much will it cost to install 8 windows of the same size?

An airplane flies at a steady speed of 550 mph.
How far will it travel in 7 hours?
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